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159.  RFFFTAEAR T BT B A W a2 (minso~454F)

(IBFO404E = 100) ,
- A N ﬁ ﬂ 1 b
E, £ i &3 & ZDMmD Tt B b - T N S | S N R ¢
x & & F

BERa0E €« B ¥ 15 100.0 100.0 100.0 100.0 100.0 100. 0 1G0. 0 100.0
41 105. 1 103.9 105.9 103. 4 105.0 101. 1 103.6 108. |
42 109. 3 108.9 109. 1 108. 8 110.0 100- 6 106. 5 112.2
43 115. 1 115.9 120. 1 114.8 114. 1 101.5 111.2 118.2
44 121. 1 122.9 127.8 121.5 118.8 102.0 116.6 124.7
45 130.4 134.0 130. 1 135. 1 126.4 103.8 126. 8 132.9
#L 137} 128. 2 129. 1 130. 1 128.9 121.7 104.5 129. 92 122. 1
= o 195.3 128. 1 133.6 123.6 123.3 101.9 123.2 127.5
2 i 130.3 132. 1 131.0 132.5 130.5 101. 1 125.6 135.8
ol 4L 132.6 131.5 133.3 131. 1 145.3 101.9 130.8 136.3
% H 128.5 129. 6 130. 4 129. 4 129.0 102. 1 126.7 132.3
1 12 131.3 131. 1 131.7 130.9 133.9 106.3 126. 4 137.9
5 B 129.0 133.2 134.6 132.7 120. 4 104.0 126.8 132.0
7K B 132.0 135.9 129.6 137.5 128.5 103.5 126.3 131.3
¥ b (=4 131.6 134.4 128. 2 136. 1 129.8 104. 1 133.5 131.9
] P 129.0 131.9 132. 4 131.8 120. 4 106.6 134.8 129.8
b m 130. 6 131.6 126.2 132.7 132.7 101. 4 135. 1 131.3
T e 130. 2 135.2 129. 6 136.6 122.3 103. 1 129.6 130.9
BHORE  E(EH) 130. 4 133.5 127.6 134.7 122.0 101. 4 132.0 132.7
B bl 130.9 134. 4 126.5 136. 2 127.6 101.8 129. 4 132.0
L5 b=t 129.3 127.9 127. 1. 128. 1 128. 2 102.3 127.9 137.7
=1 il 132.0 133.7 133. 1 133.8 132.6 107.8 §33.3 132. 2
% R 130.5 133.2 131.7 133.7 133.0 112.2 117.6 134.5
= H 125. 1 125.9 130.6 124.5 118. 1 106.5 122.9 130. 6
H Jis: 129.8 131.4 128. 4 132. 1 116.7 104.9 133.6 133.6
B 52 130. 7 130.9 129.7 131.2 140.7 103.8 121.5 134.2
53 = 132.8 135.9 129. 4 137.9 120.0 102. 1 129.0 139.6
#n i 130. 1 133.6 131.2 134.3 125. 2 102.0 133.2 130.0
% = B 130.0 132. 4 129.3 133.2 136.0 101.7 122. 4 132. 4
i 130.9 134.5 129. 4 136.0 128. 4 107.7 195.6 133.5
s H 134.3 136.9 133.7 137.8 131.5 105.8 131.0 137.7
=" F2 131.0 135.8 131. 4 137. 1 196. 5 105.3 195.3 133. 1
*: B 132.0 135.7 128. 4 137.8 133.9 102.0 124.7 133. 1
i )= 130. 4 133.2 - 130.4 133.9 131.8 102.0 196.3 132. 1
7= = 131.3 133.2 127.8 134. 4 128.8 102.0 125.6 137.0
poal i m 133.0 138.7 130.5 140.9 131.6 102.2 19,1 135.9
B Jid 131.3 132.5 132.9 132. 4 132. 1 105.9 130.3 133.9
[ T 130.0 131.5 129.0 132. 1 131.6 109.9 128.8 131.2
| i 135.7 144. 1 132.7 147.0 127.8 109.7 196. 6 135.7
I B 131.3 135.8 133.2 136. 4 195. 4 101.3 128.3 133. 1
-l o 134. 2 137. 1 0 129.8 139.0 133.0 104. 5 29.6° 140. 6
i it B 130. 6 135. 7 132.0 137.0 118.5 105.9 129.7 132, 1
= B 135.9 134.5 131.3 135. 4 129.3 106. 4 132.2 145.9
N 1 130.7 138.0 129.9 140.7 127.0 103.5 119.9 130.9
o5 &y 133. 1 137.7 132. 4 139.3 131.6 102.5 139. 1 128.3
= ] 132.8 137.3 130. 1 139. 4 118.0 103.2 128.7 138.6
= 1 135.9 139. 1 128. 1 142.8 144.2 106. 4 132.7 134. 4
= 1% 133.8 140.3 131.5 143.0 137.2 101. 4 116.9 134.8
&8 & 135.0 140.3 134.3 142. 2 128.6 106.5 124. 1 140.5
* 43 135.0 141.9 130.8 144.9 137.5 104.3 126.0 132.9
b=t % 133.7 137.9 131.6 139.9 131.3 106.7 195.2 136. 1
B ) - R -1 132.5 135.3 131.2 136. 6 130. 1 102.9 126.6 136. 6
4k b M 129.7 136.3 128.8 138.6 122.7 100.3 120. 1 131.1
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